F9 Financial Management

Chapter 12 Sources of Finance
	SYLLABUS
1.
Identify and discuss the range of short-term sources of finance available to businesses, including:

(a)
Overdraft

(b)
Short-term loan

(c)
Trade credit

(d)
Lease finance

2.
Identify and discuss the range of long-term sources of finance available to businesses, including:

(a)
Equity finance

(b)
Debt finance
(c)
Lease finance
(d)
Venture capital

3.
Identify and discuss methods of raising equity finance, including:

(a)
Rights issue

(b)
Placing

(c)
Public offer

(d)
Stock exchange listing
4.
Finance for small and medium sized entities (SMEs)
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1.
Short-term Sources of Finance

1.1
Introduction

1.1.1
Short-term finance is usually needed for businesses to run their day-to-day operations including payment of wages to employees, inventory ordering and supplies. Businesses with seasonal peaks and troughs and those engaged in international trade are likely to be heavy users of short-term finance.
1.2
Overdrafts

1.2.1
Overdrafts are one of the most important sources of short-term finance available to businesses. They can be arranged relatively quickly, and offer a level of flexibility with regard to the amount borrowed at any time, whilst interest is only paid when the account is overdrawn.

1.2.2
By providing an overdraft facility to a customer, the bank is committing itself to provide an overdraft to the customer whenever the customer wants it, up to the agreed limit. The bank will earn interest on the lending, but only to the extent that the customer uses the facility and goes into overdraft. If the customer does not go into overdraft, the bank cannot charge interest.
1.2.3
The bank will generally charge a commitment fee when a customer is granted an overdraft facility or an increase in his overdraft facility. This is a fee for granting an overdraft facility and agreeing to provide the customer with funds if and whenever he needs them.
	1.2.4
	Example 1

	
	Many businesses require their bank to provide financial assistance for normal trading over the operating cycle.
For example, suppose that a business has the following operating cycle.

$
$
Inventories
10,000
Bank overdraft

1,000
Trade payables

3,000

4,000

Working capital

6,000

It now buys inventory costing $2,500 for cash, using its overdraft. Working capital remains the same, $6,000, although the bank’s financial stake has risen from $1,000 to $3,500.
$
$
Inventories
12,500
Bank overdraft

3,500
Trade payables

3,000

6,500
Working capital

6,000

A bank overdraft provides support for normal trading finance. In this example, finance for normal trading rises from $(10,000 – 3,000) = $7,000 to $(12,500 – 3,000) = $9,500 and the bank’s contribution rises from $1,000 out of $7,000 to $3,500 out of $9,500.


1.2.5
When a business customer has an overdraft facility, and the account is always in overdraft, then it has a solid core (or hard core) overdraft. If the hard core element of the overdraft appears to be becoming a long-term feature of the business, the bank might wish, after discussions with the customer, to convert the hard core of the overdraft into a loan, thus giving formal recognition to its more permanent nature. Otherwise annual reductions in the hard core of an overdraft would typically be a requirement of the bank.
1.2.6
Advantages and disadvantages of overdrafts

	Advantages
	Disadvantages

	· Flexibility – The borrowing firm is not asked to forecast the precise amount and duration of its borrowing at the outset but has the flexibility to borrow up to a stated limited.
· Cheapness – Banks usually charge lower interest rate depending on the security offered, creditworthiness and bargaining position of the borrower.
	· Bank retains the right to withdraw the facility at short notice.
· Bank usually take a fixed charge or a floating charge as the security.

· Bank may require a personal guarantee of the directors or owners of the business.


1.3
Short-term loans
1.3.1
A term loan is a loan for a fixed amount for a specified period. It is drawn in full at the beginning of the loan period and repaid at a specified time or in defined instalments. Term loans are offered with a variety of repayment schedules. Often, the interest and capital repayments are predetermined.

1.3.2
Advantages for the borrower
(a)
The borrower knows what he will be expected to pay back at regular intervals and the bank can also predict its future income with more certainty.

(b)
Once the loan is agreed, the term of the loan must be adhered to, provided that the customer does not fall behind with his payments. It is not repayable on demand by the bank.

1.4
Trade credit
1.4.1
Trade credit is one of the main sources of short-term finance for a business. Current assets such as raw materials may be purchased on credit with payment terms normally varying from between 30 to 90 days. Trade credit therefore represents an interest free short-term loan.

1.4.2
In a period of high inflation, purchasing via trade credit will be very helpful in keeping costs down. However, it is important to take into account the loss of discounts suppliers offer for early payment.

1.4.3
Unacceptable delays in payment will worsen a company’s credit rating and additional credit may become difficult to obtain.
1.5
Leasing

1.5.1
Rather than buying an asset outright, using either available cash resources or borrowed funds, a business may lease an asset. Leasing has become a popular source of finance.

1.5.2
Leasing can be defined as a contract between lessor and lessee for hire of a specific asset selected from a manufacturer or vendor of such assets by the lessee. The lessor retains ownership of the asset. The lessee has possession and use of the asset on payment of specified rentals over a period.

	Multiple Choice Questions

1.
Which of the following is not a benefit, to the borrower, of an overdraft as opposed to a short-term loan?

A
Flexible repayment schedule

B
Only charged for the amount drawn down

C
Easy to arrange

D
Lower interest rates


2.
Debt Finance

2.1
Introduction
2.1.1
A range of long-term sources of finance are available to businesses including debt finance, leasing, venture capital and equity finance.

2.1.2
Long-term finance is used for major investments and is usually more expensive and less flexible than short-term finance.

2.2
Reasons for seeking debt finance

	2.2.1
	Reasons for seeking debt finance
(Jun 10, Dec 10)

	
	Sometimes businesses may need long-term funds, but may not wish to issue equity capital.

(a)
Perhaps the current shareholders will be unwilling to contribute additional capital.

(b)
Possibly the company does not wish to involve outside shareholders who will have more onerous requirements than current members;

(c)
May include lesser cost and easier availability, particularly if the company has little or no existing debt finance.

(d)
Debt finance provides tax relief on interest payments.


2.3
Factors influencing choice of debt finance by a company
	2.3.1
	Factors influencing choice of debt finance
(Jun 08, Jun 12, Jun 13)

	
	The choice of debt finance that a company can make depends upon:

(a)
Availability – Only listed companies will be able to make a public issue of loan notes on a stock exchange; smaller companies may only be able to obtain significant amounts of debt finance from their bank.

(b)
Duration – If loan finance is sought to buy a particular asset to generate revenues for the business, the length of the loan should match the length of time that the asset will be generating revenues.

(c)
Fixed or floating rate – Expectations of interest rate movements will determine whether a company chooses to borrow at a fixed or floating rate. Fixed rate finance may be more expensive, but the business runs the risk of adverse upward rate movements if it chooses floating rate finance.

(d)
Security and covenants – The choice of finance may be determined by the assets that the business is willing or able to offer as security, also on the restrictions in covenants that the lenders wish to impose.
(e)
Gearing and financial risk – If already too high, not suitable to raise debt finance.

(f)
Target capital structure – A company should seek to minimize its WACC. In practical terms this can be achieved by having some debt in its capital structure, since debt is relatively cheaper than equity.

(g)
Economic expectations – It is more easy to borrow money from bank in good economic conditions.


2.4
Factors to be considered by providers of finance

	2.4.1
	Factors to be considered by providers of finance
(Jun 12)

	
	(a)
Risk and the ability to meet financial obligations –
Providers of finance will assess the ability of the company to meet its future financial obligations and the risk of the company. The previous record of the company can be used as a guide to the ability of its board of directors to manage its finances in a responsible and effective manner.
(b)
Security – The amount of funds made available to a company will also depend on the availability of assets to offer as security. If security is not available or is limited, the company will have to pay a higher rate of interest in compensation for the higher level of risk.
(c)
Legal restrictions on borrowing – Whether there are any legal restrictions on the amount of debt that the company can take on, for example in existing debt contracts (restrictive or negative covenants), or in the company’s articles of association.


	Question 1

Discuss the factors that Zigto Co should consider when choosing a source of finance and the factors that may be considered by providers of finance in deciding how much to lend to the company.
(8 marks)


(ACCA F9 Financial Management June 2012 Q3(b))


2.5
Loan notes



(Jun 14)
2.5.1
The term bonds describes various forms of long-term debt a company may issue, such as loan notes or debentures, which may be:

(a)
Redeemable

(b)
Irredeemable

2.5.2
Bonds or loans come in various forms, including:

(a)
Floating rate debentures

(b)
Zero coupon bonds

(c)
Convertible loan stock

2.5.3
Loan notes are also known as corporate bonds or loan stock:

(a)
traded on stock markets in much the same way as shares

(b)
may be secured or unsecured

(c)
secured debt will take the form of either a fixed charge or a floating charge.
	Fixed charge
	Floating charge

	· Security relates to specific asset / group of assets (land and buildings)

· Company cannot dispose of assets without providing substitute/consent of lender
	· Security in event of default is whatever assets of the class secured (inventory/trade receivables) company then owns

· Company can dispose of assets until default takes place

· In event of default lenders appoint receiver rather than lay claim to asset


2.5.4
Advantages and disadvantages

	Advantages
	Disadvantages

	From the view point of investors:

· Low risk – has priority in interest payments and on liquidation

· Income is fixed, so the holder receives the same interest whatever the earnings of the company.

From the view point of company:

· Cheap – because it is less risky than equity for an investor

· Has predictable cash flows – limited to the stipulated interest payment

· Does not dilute control
	From the viewpoint of investors:

· Has no voting rights – only if interest is not paid, holders will take control of the company

From the view point of company:

· Inflexible – interest must be paid whatever the earnings of the company

· Increase risk at high levels of gearing

· Must be repaid the principles in general


2.6
Zero coupon bonds



(Jun 14)
2.6.1
Zero coupon bonds are bonds that are issued at a discount to their redemption value, but no interest is paid on them.

2.6.2
The advantage for borrowers (i.e. the company) is that zero coupon bonds can be used to raise cash immediately, and there is no cash repayment until redemption date. The cost of redemption is known at the time of issue. The borrower can plan to have funds available to redeem the bonds at maturity.

2.6.3
The advantage for lenders is restricted, unless the rate of discount on the bonds offers a high yield. The only way of obtaining cash from the bonds before maturity is to sell them. Their market value will depend on the remaining term to maturity and current market interest rates.

2.7
Deep discount bonds



(Jun 14)
2.7.1
Deep discount bonds are loan notes issued at a price which is at a large discount to the nominal value of the notes, and which will be redeemable at par or above par when they eventually mature.

	2.7.2
	Example 2

	
	A company issue $1,000,000 of loan notes in 2010, at a price of $50 per $100 of note, and redeemable at par in the year 2019. For a company with specific cash flow requirements, the low servicing costs during the currency of the bond may be an attraction, coupled with a high cost of redemption at a maturity.


2.8
Convertible loan notes



(Jun 14)
2.8.1
Convertible loan notes are bonds that, at the option of the holder, can be converted into ordinary shares. If not converted, it will be redeemed like ordinary or straight debt on maturity.
	2.8.2
	Attractions of convertible debt
(Dec 12, Jun 14)

	
	Convertible debt has a number of attractions compared with a bank loan of similar maturity, as follows:
(a)
Self-liquidating (自行收回)
(i)
Provided that the conversion terms are pitched correctly and expected share price growth occurs, conversion will be an attractive choice for bond holders as it offers more wealth than redemption.

(ii)
This occurs when the conversion value is greater than the redemption value, or when the conversion value is greater than the floor value on the conversion date.

(iii)
If the debt is converted into ordinary shares, it will not need to be redeemed. A bank loan of a similar maturity will need to have all of the capital repaid.

(b)
Lower interest rate
(i)
It will be lower than the interest rate on ordinary debt such as a bank loan because of the value of the option to convert.
(ii)
The returns on fixed-interest debt will not increase with corporate profitability, so debt providers will have a limited share of the benefits from the investment of the funds they have provided.

(iii)
When debt has been converted, however, bond holders become shareholders and will potentially have unlimited returns, or at least returns that are higher than the returns on debt finance.

(c)
Increase in debt capacity on conversion
(i)
Gearing increases when convertible debt is issued, but if conversion occurs, the gearing will fall not only because the debt has been removed, but will fall even further because equity has replaced the debt.

(ii)
The debt capacity of the company will therefore be enhanced by conversion, compared to redemption of a bank loan of a similar maturity.

(d)
More attractive than ordinary debt
(i)
It may be possible to issue convertible debt even when ordinary debt such as a bank loan is not attractive to lenders, since the option to convert offers a little extra that ordinary debt does not.

(ii)
This is the option to convert in the future, which can be attractive to optimists, even when the short- and medium-term economic outlook may be poor.


	Question 2
Discuss the attractions to a company of convertible debt compared to a bank loan of a similar maturity as a source of finance.
(4 marks)


(ACCA F9 Financial Management December 2012 Q3(d)


(a)
Conversion value and conversion premium

2.8.3
The current market value of ordinary shares into which a loan note may be converted is known as the conversion value. The conversion value will be below the value of the note at the date of issue, but will be expected to increase as the date for conversion approaches on the assumption that a company’s shares ought to increase in market value over time.
Conversion premium = Current market value of bond – total current market value of shares
	2.8.4
	Example 3

	
	The 10% convertible loan notes of XYZ Co are quoted at $142 per $100 nominal. The earliest date for conversion is in four years time, at the rate of 30 ordinary shares per $100 nominal loan note. The share price is currently at $4.15. Annual interest on the notes has just been paid.

Required:
(a)
What is the average annual growth rate in the share price that is required for the bondholders to achieve an overall rate of return of 12% a year compound over the next four years, including the proceeds of conversion?

(b)
What is the implicit conversion premium on the loan notes?

Solution:

(a)

Year

Investment

Interest

DF @ 12%

PV

$

$

$

0

(142)

1.000

(142.00)

1

10

0.893

8.93

2

10

0.797

7.97

3

10

0.712

7.12

4

10

0.636

6.36

(111.62)

The value of 30 shares on conversion at the end of year 4 must have a present value of at least $111.62, to provide investors with a 12% return.
The money value at the end of year 4 needs to be $111.62 × (1 + 12%)4 = $175.64.

The current market value of 30 shares is (× $4.15) $124.50.

If the annual rate of growth in the share price, expressed as a proportion, is g, then:

$124.50 × (1 + g)4 = 175.64
g = 0.0898, say 0.09 or 9%

Conclusion: The rate of growth in the share price needs to be 9% a year (compound).

(b)

The conversion premium can be expressed as an amount per share or as a percentage of the current conversion value.

(i)
As an amount per share 
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As a % of conversion value 
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(b)
The issue price and the market price of convertible loan notes
2.8.5
A company will aim to issue loan notes with the greatest possible conversion premium as this will mean that, for the amount of capital raised, it will, on conversion, have to issue the lowest number of new ordinary shares. The premium that will be accepted by potential investors will depend on the company’s growth potential and so on prospects for a sizeable increase in the share price.

2.8.6
Convertible loan notes issued at par normally have a lower coupon rate of interest than straight debt. This lower yield is the price the investor has to pay for the conversion rights. It is, of course, also one of the reasons why the issue of convertible notes is attractive to a company.
2.8.7
The actual market price of convertible notes will depend on:
(a)
the price of straight debt
(b)
the current conversion value
(c)
the length of time before conversion may take place

(d)
the market’s expectation as to future equity returns and the risk associated with these returns
	Question 3

ABC has issued 50,000 units of convertible loan notes, each with a nominal value of $100 and a coupon rate of interest of 10% payable yearly. Each $100 of convertible loan notes may be converted into 40 ordinary shares of ABC in three years time. Any notes not converted will be redeemed at $110 (that is, at $110 per $100 nominal value of note).

Estimate the likely current market price for $100 of the loan notes, if investors in the loan notes now require a pre-tax return of only 8%, and the expected value of ABC ordinary shares on the conversion day is:

(a)
$2.50 per share

(b)
$3.00 per share


3.
Venture Capital (風險投資)


(Jun 13)
3.1
Venture capital is long-term capital that is available for around five years. It is normally offered by specialist institutions, and is aimed at small and medium-size businesses that have a fairly high level of risk.

3.2
Venture capitalists are prepared to provide capital to such businesses if the expected returns are commensurate with the level of risk taken. This means that venture capitalists will only be interested in a business with good profit and growth prospects. The amount of capital invested will vary according to need and may be provided in stages, subject to certain key objectives being met.

3.3
Venture capitalist may be interested in the following types of business:

(a)
Business start-ups – This can cover a wide range of situations from businesses that are still at the concept stage through to businesses that are about to begin operations. In practice it seems that venture capitalists prefer to invest in start-ups that are fairly well advanced.
(b)
Growth capital – This is designed for businesses that have passed the start-up phase and are seeking capital for further expansion. It is, therefore, a form of second-stage funding.
(c)
Management acquisitions – Venture capitalists will often provide capital for managers that wish to take over an existing business. The managers may be already employed by the business or they may be outside managers that are looking for a vehicle for their ambitions. This type of financing has proved to be extremely popular among venture capitalists in recent years.
(d)
Share purchases – Capital may be provided to help finance the buy out of a part-owner of a business. This may be provided to someone outside the business or to the other part-owners.
(e)
Business recoveries – Capital may be provided to help turn round the fortunes of a business that is currently experiencing difficulties.
(f)
Venture capitalists do not usually look for quick cash returns and are often content to wait for a cash return on realisation of the investment.

3.4
Factors to be considered by management when using venture capital finance:
(a)
The directors of a business must recognise that venture capitalists will be seeking high returns for the risks that they are prepared to undertake. This is likely to mean that the directors will be under considerable pressure to perform and to meet agreed targets.

(b)
The venture capitalists will usually expect to work closely with the business in order to protect the investment made. It is quite common for venture capitalists to have a representative on the board of directors and to be consulted over any proposed changes to agreed plans.

(c)
It is also quite common for the venture capitalist to receive forecasts and other financial information to help monitor the direction and performance of the business.

(d)
The venture capitalist will expect to receive an equity stake in the business and will often sell this stake after a period of five years or so. Hence, the directors should appreciate that the business may be sold to another business or come under the control of other investors at some stage.
3.5
Factors to be considered by venture capitalist when assessing an investment
(a)
Financial performance The financial track record of the business to date as well as forecast performance will be closely scrutinised. Where forecasts are presented, the validity of the underlying assumptions as well as key estimates will be checked.
(b)
The market for the products or services The nature of the market is an important factor to consider. The degree of competition, the threat of substitutes, the bargaining power of suppliers and employees and the barriers to market entry will be considered along with the size and future prospects for the market as a whole. In addition, the standing of the business within the market, as viewed by customers and suppliers, will be examined.
(c)
Owner investment The owners will usually be required to invest a significant proportion of their personal wealth in the venture. The venture capitalist will expect the owners to demonstrate their belief in the venture in a tangible way.
(d)
The quality of management The quality of management will often be the most important factor in the future success of the business. Thus, the management team will be examined to see whether it has the right blend of skills, and experience to manage the business. The commitment of the managers and their ability to work together as an effective team will also be scrutinised.
(e)
Risk The different types of risk that will be encountered by the business and the ways in which these risks will be managed will be identified and evaluated.
(f)
Business operations The nature and complexity of internal business operations will be examined to see whether these are dependent on key skills or key individuals. The effectiveness and efficiency of the operations will also be examined.
(g)
Exit route The venture capitalist will seek to realise the investment in the business at some point. This may be done in various ways, such as floating the company and then selling the shares through the Stock Exchange or by a sale to another business. The venture capitalist will normally identify a possible exit route and time frame before entering into the investment.

	Question 4
Venture capital is an important source of capital for some businesses.

Required:

(a)
Explain what is meant by the term ‘venture capital’ and identify the main types of business ventures that are likely to be an attractive investment for a venture capitalist.


(7 marks)

(b)
Outline the main issues that the board of directors of a company should take into account when considering the use of venture capital finance.
(4 marks)

(c)
Discuss the main factors that a venture capitalist will consider when assessing an investment proposal.
(9 marks)



(Total 20 marks)


4.
Equity Finance
4.1
Sources of equity finance

4.1.1
There are three main sources of equity finance:

(a)
internally-generated funds – retained earnings

(b)
rights issue

(c)
new external share issues – placings, offers for sale, etc.

4.2
Advantages and disadvantages of equity finance


(Jun 11)
	Advantages
	Disadvantages

	· Decrease gearing and so decrease financial risk
· No security required

· No fixed periodic payment like debt

· No maturity and so no need to redeem
	· May dilute the ownership and control of existing shareholders (except for rights issue if shareholders take up all their rights)
· Higher costs (e.g. issue costs) than debts

· May not be able to obtain fundings from existing shareholders


4.3
Internally-generated funds => costs = issue of shares
4.3.1
Internally-generated funds comprise:

(a)
retained earnings plus

(b)
non-cash charges against profits (e.g. depreciation).

4.3.2
For an established company, internally-generated funds can represent the single most important source of finance, for both short and long-term purposes.

4.4
New external share issues
4.4.1
An unquoted company can obtain a listing on the stock market by means of a:
(a)
Initial public offer (IPO)

(b)
Placing

(c)
Introduction

4.4.2
A stock exchange is a market place that is designed to bring together providers of capital and companies seeking to raise capital. It acts as both a primary market and a secondary market for securities.
4.4.3
Primary market – facilitates the issue of new shares and debentures by public companies.

4.4.4
Secondary market – facilitates the purchase and sale of ‘second-hand’ securities. A stock exchange enables investors to transfer their investment easily and quickly.

4.4.5
Advantages of listing:

(a)
Share transferability – shares can be transferred easily and so encourage investment

(b)
Share price – shares listed in exchange should be priced more efficiently than non-listed company, which give investors confidence when buying or selling shares

(c)
Company profile – help the company in establishing new contracts or in developing business opportunities

(d)
Business combinations – stock exchange can facilitate takeovers and mergers

4.4.6
Disadvantages of listing:

(a)
High flotation costs – e.g. underwriting fees, professional fees, etc.

(b)
Regulatory costs – the cost of maintaining a stock exchange listing can be high, e,g. must have non-executive directors, audit committee, etc.

(c)
Control – existing shareholders may suffer loss of control

(d)
Investors expectations – it may put pressure on the directors to produce gains over the short term

(e)
Takeover target – a listed company is much more vulnerable to a takeover than an unlisted company

(a)
Initial public offer

4.4.7
An initial public offer is an invitation to apply for shares in a company based on information contained in a prospectus.

4.4.8
An IPO is a means of selling the shares of a company to the public at large. When companies go public for the first time, a large issue will probably take the form of an IPO. Subsequent issues are likely to be placings or rights issues, described later.
4.4.9
An IPO entails the acquisition by an issuing house (發行人) of a large block of shares of a company, with a view to offering them for sale to the public and investing institutions.
4.4.10
An issuing house is usually a merchant bank. It may acquire the shares either as a direct allotment from the company or by purchase from existing members. In either case, the issuing house publishes an invitation to the public to apply for shares, either at a fixed price or on a tender basis. The issuing house accepts responsibility to the public, and gives to the issue the support of its own standing.
4.4.11
Cost of share issues on the stock market
(a)
Underwriting costs

(b)
Stock market listing fee (the initial charge) for the new securities

(c)
Fees of the issuing house, solicitors, auditors and public relations consultant

(d)
Charges for printing and distributing the prospectus

(e)
Advertising in national newspapers

(b)
Placing (配售)


(Jun 09, Jun 13)
4.4.12
A placing is an arrangement whereby the shares are not all offered to the public, but instead, the sponsoring market maker arranges for most of the issue to be bought by a smaller number of investors, usually institutional investors such as pension funds and insurance companies.
4.4.13
Advantages of placing when compared with IPO
(a)
Placings are much cheaper. Approaching institutional investors privately is a much cheaper way of obtaining finance, and thus placings are often used for smaller issues.

(b)
Placings are likely to be quicker.

(c)
Placings are likely to involve less disclosure of information.

(d)
However, most of the shares will be placed with a relatively smaller number of (institutional) shareholders, which means that most of the shares are unlikely to be available for trading after the flotation, and that institutional shareholders will have control of the company.

4.4.14
Advantages of placing when compared with debt finance
(a)
Not require security when compared with debt finance
(b)
Not need to redeem
(c)
Introduction

4.4.15
Introduction is a process that allows a company to join a stock exchange without raising capital. A company does not issue any fresh shares; it merely introduces its existing shares in the market.

4.4.16
It is used where the public already holds at least 25% of the shares in the company (the minimum requirement for a stock exchange listing). The shares become listed and members of the public can buy shares from the existing shareholders.




	15.
The following methods of issuing shares may be used by a quoted company:

1.
An intermediaries’ offer

2.
An offer for subscription

3.
A rights issue

4.
A placing

Which of the above methods allow the investing public to participate in the share issue?

A
1 and 2

B
2 only

C
3 and 4

D
4 only

16.
Which of the following is least likely to be a reason for seeking a stock market listing?

A
Enhancement of the company’s image

B
Transfer of capital to other users

C
Improving existing owners’ control over the business

D
Access to a wider pool of finance

17.
Which of the following is a key feature of debt as a source of finance?
A
Interest must be paid irrespective of the level of profits generated by the company

B
Debt holders are repaid last in the case of a winding up of the company

C
Debt holders hold full voting rights

D
Debt holders suffer relatively high levels of risk, compared to providers of other sources of finance, and therefore debt attracts the highest return
18.
Which two of the following statements are correct?
(1)
Bank overdrafts are repayable on demand

(2)
Warrants give the holder the right to subscribe at a fixed future date for a certain number of ordinary shares at a predetermined price

(3)
Preference dividends are paid before loan interest is paid

(4)
Deep discount bonds are issued at a discount to their redemption value and no interest is paid on them
A
(1) and (2)

B
(1) and (3)

C
(2) and (4)

D
(3) and (4)

19.
Which of the following best describes the term 'coupon rate' as applied to loan notes?
A
The rate of stamp duty applicable to purchases of the loan notes

B
The total rate of return on the loan notes, taking into account capital repayment as well as interest payments

C
The annual interest received divided by the current ex interest market price of the loan notes

D
The annual interest received on the face value of the units of the loan notes



	Question 5 – Financial ratios and financing methods

The following financial position statement as at 30 November 2010 refers to Nugfer Co, a stock exchange-listed company, which wishes to raise $200m in cash in order to acquire a competitor.

Assets

$m

$m

$m

Non-current assets

300

Current assets

211

Total assets

511

Equity and liabilities

Share capital

100

Retained earnings

121

Total equity

221

Non-current liabilities

Long-term borrowings

100

Current liabilities

Trade payables

30

Short-term borrowings

160

190

Total liabilities

290

Total equity and liabilities

511

The recent performance of Nugfer Co in profitability terms is as follows:

Year ending 30 November

2007

2008

2009

2010

$m

$m

$m

$m

Revenue

122.6

127.3

156.6

189.3

Operating profit

41.7

43.3

50.1

56.7

Finance charges (interest)

6.0

6.2

12.5

18.8

Profit before tax

35.7

37.1

37.6

37.9

Profit after tax

25.0

26.0

26.3

26.5

Notes:

1.
The long-term borrowings are 6% bonds that are repayable in 2012

2.
The short-term borrowings consist of an overdraft at an annual interest rate of 8%

3.
The current assets do not include any cash deposits

4.
Nugfer Co has not paid any dividends in the last four years

5.
The number of ordinary shares issued by the company has not changed in recent years

6.
The target company has no debt finance and its forecast profit before interest and tax for 2011 is $28 million

Required:

(a)
Evaluate suitable methods of raising the $200 million required by Nugfer Co, supporting your evaluation with both analysis and critical discussion.
(15 marks)
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4.5
Rights issue



(Dec 07, Jun 08, Dec 08, Jun 09, Dec 09, Jun 11, Dec 11, Jun 14, Dec 14, Jun 15)
4.5.1
A rights issue raises equity finance by offering new shares to existing shareholders in proportion to the number of shares they currently hold. Existing shareholders have the right to be offered new shares (the pre-emptive right) before they are offered to new investors, hence the term ‘rights issue’. It usually offers at a price lower than the current market price.
4.5.2
Factors to be considered in choosing to raise funds via a rights issue
(Dec 14)
(a)
Issue price
Rights issue shares are offered at a discount to the market value. It can be difficult to judge what the amount of the discount should be.

(b)
Relative cost (also advantage)
Rights issues are cheaper than other methods of raising finance by issuing new equity, such as an initial public offer (IPO) or a placing, due to the lower transactions costs associated with rights issues.
(c)
Ownership and control (also advantage)
As the new shares are being offered to existing shareholders, there is no dilution of ownership and control, providing shareholders take up their rights.
(d)
Gearing and financial risk (also advantage)
Increasing the weighting of equity finance in the capital structure of Tinep Co can decrease its gearing and its financial risk. The shareholders of the company may see this as a positive move, depending on their individual risk preference positions.
(a)
Deciding the issue price for a rights issue

4.5.3
The offer price in a rights issue will be lower than the current market price of existing shares. The size of the discount will vary, and will be larger for difficult issues. The offer price must however be at or above the nominal value of the shares, so as not to contravene company law.
4.5.4
A company making a rights issue must set a price which is lower enough to secure the acceptance of shareholders, who are being asked to provide extra funds, but not too low, so as to avoid excessive dilution of the EPS.

	4.5.5
	Example 4

	
	A company can achieve a profit after tax of 20% on the capital employed. At present its capital structure is as follows.

$
200,000 ordinary shares of $1 each
200,000
Retained earnings

100,000

300,000

The directors propose to raise an additional $126,000 from a rights issue. The current market price is $1.80.

Required:

(a)
Calculate the number of shares that must be issued if the rights price is: $1.60; $1.50; $1.40; $1.20.

(b)
Calculate the dilution in EPS in each case.

Solution:

The earnings at present are 20% of $300,000 = $60,000. This gives EPS of 30c. The earnings after the rights issue will be 20% of $426,000 = $85,200.
Rights price
($)
No. of new share ($126,000 ÷ rights price)
EPS ($85,200 ÷ total no. of shares)
Dilution
Cents
1.60
78,750
30.6
+ 0.6
1.50

84,000

30.0

-

1.40

90,000

29.4

- 0.6

1.20

105,000

27.9

- 2.1

Note that at a high rights price the EPS are increased, not diluted. The breakeven point (zero dilution) occurs when the rights price is equal to the capital employed per share: $300,000 ÷ 200,000 = $1.50.


(b)
Theoretical ex rights price
4.5.6
When a rights issue is announced, all existing shareholders have the right to subscribe for new shares, and so there are rights attached to the existing shares. The shares are therefore described as being cum rights (with rights attached) and are traded cum rights. On the first day of dealings in the newly issued shares, the rights no longer exist and the old shares are now ex rights (without rights attached).

4.5.7
After the announcement of a rights issue, share prices normally fall. The extent and duration of the fall may depend on the number of shareholders and the size of their holdings. This temporary fall is due to uncertainty in the market about the consequences of the issue, with respect to future profits, earnings and dividends.
4.5.8
In theory, the new market price will be the consequence of an adjustment to allow for the discount price of the new issue, and a theoretical ex rights price can be calculated.

	4.5.9
	Example 5

	
	ABC has 1,000,000 ordinary shares of $1 in issue, which have a market price on 1 September of $2.10 per share. The company decides to make a rights issue, and offers its shareholders the right to subscribe for one new share at $1.50 each for every four shares already held. After the announcement of the issue, the share price fell to $1.95, but by the time just prior to the issue being made, it had recovered to $2 per share. The market value just before the issue is known as the cum rights price. What is the theoretical ex rights price?
Solution:

Value of the portfolio for a shareholder with 4 shares before the rights issue:

4
shares @ $2.00
$8.00
1
share @ $1.50
$1.5
5

$9.5

So the theoretical ex rights price = $9.50 ÷ 5 = $1.90

The value of rights is the theoretical gain a shareholder would make by exercising his rights.

(a)
For example, if the price offered in the rights issue is $1.50 per share, and the market price after the issue is expected to be $1.90, the value attaching to a right is $1.90 – $1.50 = $0.40. A shareholder would therefore be expected to gain $0.40 for each new share he buys.

If he does not have enough money to buy the share himself, he would sell the right to subscribe for a new share to another investor, and receive $0.40 from the sale. This other investor would then buy the new share for $1.50, so that his total outlay to acquire the share would be $0.40 + $1.50 = $1.90, the theoretical ex rights price.

(b)
The value of rights attaching to existing shares is calculated in the same way. If the value of rights on a new share is $0.40, and there is a one for four rights issue, the value of the rights attaching to each existing share is $0.40 ÷ 4 = $0.10.


	Question 6 – Rights issue and share price valuation
The statement of financial position of Hameldown plc, a telecommunications business, revealed the following long-term capital structure as at 30 November 2006:

£m

Ordinary share 50p fully paid

80.0

Share premium account

30.0

Retained profit

135.0

245.0

The company is listed on the London Stock Exchange and the current share price is £4·20.

The company recently repaid all of its long-term loan capital.

The company has decided to invest heavily in new technology and, as a result, has identified an immediate long-term financing requirement of £48 million. To raise the necessary funds, the directors of the company are considering two possible options. The first is to make a one-for-eight rights issue at a discount price of £2·40 per share. The second option is to take out a long-term debenture at an interest rate of 7·5% per year. If the share option is selected, it is expected that the price earnings (P/E) ratio will fall by 5% and if the debenture option is selected, it is estimated that the P/E ratio will rise by 6% by the end of the year to 30 November 2007.

In the year to 30 November 2006, the net profit before interest and taxation for the company was £60 million and it is expected that this will increase by £15 million during the forthcoming year. The company intends to make no dividend payments during the year.

Assume a corporation tax rate of 20%.

Required:

(a)
Assuming a rights issue of shares is made, calculate

(i)
the theoretical ex-rights price of an ordinary share in Hameldown plc, and

(ii)
the value of the rights for each original ordinary share.
(5 marks)

(b)
Estimate the price of an ordinary share in Hameldown plc on 30 November 2007 assuming:

(i)
a rights issue is made;

(ii)
a debenture issue is made.

and discuss your findings
(12 marks)

(c)
Explain, from the company’s viewpoint, how critical the pricing of a rights issue is likely to be.
(3 marks)



(Total 20 marks)


(c)
Actions to shareholders for rights issue
4.5.10
The possible courses of actions open to shareholders are:

(a)
To take up or exercise the rights, that is, to buy the new shares at the rights price. Shareholders who do this will maintain their percentage holdings in the company by subscribing for the new shares.
(b)
To renounce the rights and sell them on the market. Shareholders who do this will have lower percentage holdings of the company’s equity after the issue than before the issue, and the total value of their shares will be less.
(c)
To renounce part of the rights and take up the remainder. For example, a shareholder may sell enough of his rights to enable him to buy the remaining rights shares he is entitled to with the sale proceeds, and so keep the total market value of his shareholding in the company unchanged.

(d)
To do nothing. Shareholders may be protected from the consequences of their inaction because rights not taken up are sold on a shareholder’s behalf by the company. The Stock Exchange rules state that if new securities are not taken up, they should be sold by the company to new subscribers for the benefit of the shareholders who were entitled to the rights.
	4.5.11
	Example 6

	
	A company has issued 3,000,000 ordinary shares of $1 each, which are at present selling for $4 per share. The company plans to issue rights to purchase one new equity share at a price of $3.20 per share for every three shares held. A shareholder who owns 900 shares thinks that he will suffer a loss in his personal wealth because the new shares are being offered at a price lower than market value. On the assumption that the actual market value of shares will be equal to the theoretical ex rights price, what would be the effect on the shareholder’s wealth if:
(a)
He sells all the rights

(b)
He exercise half of the rights and sells the other half

(c)
He does nothing at all?

Solution:

The theoretical ex rights price:
3
shares @ $4.00
$12.00
1
share @ $3.20
$3.20
4
$15.2
So the theoretical ex rights price = $15.20 ÷ 4 = $3.80

$
Theoretical ex rights price
3.80
Price per new share

3.20

Value of rights per new share

0.60
The value of the rights attached to each existing share is $0.60 ÷ 3 = $0.20.

We will assume that a shareholder is able to sell his rights for $0.20 per existing share held.

(a) If the shareholder sells all his rights:
$
Sale value of rights (900 × $0.20)
180
Market value of his 900 shares, ex rights × $3.80

3,420

Total wealth

3,600
Total value of 900 shares cum rights = 900 × $4 = $3,600.
The shareholder would neither gain nor loss wealth. He would not be required to provide any additional funds to the company, but his shareholding as a proportion of the total equity of the company will be lower.
(b) If the shareholder exercises half of the rights (buys 450/3 = 150 shares at $3.20) and sells the other half:

$
Sale value of rights (450 × $0.20)
90
Market value of his 1,050 shares, ex rights × $3.80

3,990

Total wealth

4,080
$
Total value of 900 shares cum rights (× $4)
3,600
Additional investment (150 × $3.20)

480

Total wealth

4,080
The shareholder would neither gain nor loss wealth, although he will have increased his investment in the company by $480.

(c) If the shareholder does nothing, but all other shareholders either exercise their rights or sell them, he would lose wealth as follows.
$
Market value of 900 shares cum rights (× $4)
3,600
Market value of 900 shares ex rights (× $3.80)

3,420

Loss in wealth

180
It follows that the shareholder, to protect his existing investment, should either exercise his rights or sell them to another investor. If he does not exercise his rights, the new securities he was entitled to subscribe for might be sold for his benefit by the company, and this would protect him from losing wealth.


	Question 7 – Rights Issue

Tirwen plc is a medium-sized manufacturing company which is considering a 1 for 5 rights issue at a 15% discount to the current market price of £4·00 per share. Issue costs are expected to be £220,000 and these costs will be paid out of the funds raised. It is proposed that the rights issue funds raised will be used to redeem some of the existing debentures at par. Financial information relating to Tirwen plc is as follows:

Current statement of financial position

£000

£000

£000

Non-current assets

6,550

Current assets

Stock

2,000

Debtors

1,500

Cash

300

3,800

Current liabilities

Trade creditors
1,100

Overdraft

1,250

2,350

Net current assets

1,450

Total assets less current liabilities

8,000

12% debentures 2012

4,500

3,500

Ordinary shares (par value 50p)
2,000
Reserves

1,500

3,500

Other information:

Price/earnings ratio of Tirwen plc:

15.24

Overdraft interest rate:

7%

Corporation tax rate:

30%

Sector averages: debt/equity ratio (book value):

100%

Interest cover:

6 times

Required:

(a)
Ignoring issue costs and any use that may be made of the funds raised by the rights issue, calculate:

(i)
the theoretical ex rights price per share;

(ii)
the value of rights per existing share.
(3 marks)

(b)
What alternative actions are open to the owner of 1,000 shares in Tirwen plc as regards the rights issue? Determine the effect of each of these actions on the wealth of the investor.
(6 marks)

(c)
Calculate the current earnings per share and the revised earnings per share if the rights issue funds are used to redeem some of the existing debentures.
(6 marks)

(d)
Evaluate whether the proposal to redeem some of the debentures would increase the wealth of the shareholders of Tirwen plc. Assume that the price/earnings ratio of Tirwen plc remains constant.
(3 marks)

(e)
Discuss the reasons why a rights issue could be an attractive source of finance for Tirwen plc. Your discussion should include an evaluation of the effect of the rights issue on the debt/equity ratio and interest cover.
(7 marks)



(Total 25 marks)
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(d)
The actual market price after a rights issue
4.5.12
The actual market price of a share after a rights issue may differ from the theoretical ex rights price. This will occur when the expected yield from new funds raised does not equal earnings yield from existing funds.
4.5.13
The market will take a view of how profitably the new funds will be invested, and will value the shares accordingly.

	4.5.14
	Example 7

	
	A company currently has 4,000,000 ordinary shares in issue, valued at $2 each, and the company has annual earnings equal to 20% of the market value of the shares. A one for four rights issue is proposed, at an issue price of $1.50. If the market continues to value the shares on a price/earnings ratio of 5, what would be the value per share if the new funds are expected to earn, as a percentage of the money raised:

(a)
15%?

(b)
20%?

(c)
25%?

How do these values in (a), (b) and (c) compare with the theoretical ex rights price? Ignore issue costs.

Solution:

The theoretical ex rights price will be calculated first.

4
shares @ $2.00
$8.00
1
share @ $1.50
$1.50
5
$9.5
Theoretical ex rights price = $9.5/5 = $1.90

The new funds will raise 1,000,000 x $1.50 = $1,500,000.

Earnings as a % of money raised
Additional earnings ($)
Current earnings
Total earnings after the issue
15%
225,000
1,600,000
1,825,000
20%
300,000
1,600,000
1,900,000
25%
375,000
1,600,000
1,975,000
If the market values shares on a P/E ratio of 5, the total market value of equity and the market price per share would be as follows.

Total earnings
Market value
Price per share

(5,000,000 shares)
1,825,000
9,125,000
1.825
1,900,000
9,500,000
1.900
1,975,000
9,875,000
1.975
(a)
If the additional funds raised are expected to generate earnings at the same rate as existing funds, the actual market value will probably be the same as the theoretical ex rights price.
(b)
If the new funds are expected to generate earnings at a lower rate, the market value will fall below the theoretical ex rights price. If this happens, shareholders will lose.

(c)
If the new funds are expected to earn at a higher rate than current funds, the market value should rise above the theoretical ex rights price. If this happens, shareholders will profit by taking up their rights.

The decision by individual shareholders as to whether they take up the offer will therefore depend on:
· The expected rate of return on the investment (and the risk associated with it).

· The return obtainable from other investments (allowing for the associated risk).



	23.
Columbus plc has 10 million shares in issue and has a market capitalisation of $60 million. The company has recently announced a one-for-four rights issue at a discount of 40% on the current market value. What is the theoretical value of the rights attached to each original share?

A
$0·48

B
$0·60

C
$1·38

D
$1·92

24.
Sayan Co is listed on a stock market and is about to announce a one-for-three rights issue at an issue price of $12·00. The current share price of the company is $16·00.

What will be the theoretical value of the rights attached to each original share?

A
$0·75

B
$1·00

C
$1·33

D
$3·00

25.
A plc has announced a 1 for 5 rights issue at a subscription price of $2.30. The current cum-rights price of the shares is $3.35.
What is the new ex-div market value of the shares?
A
$3.18

B
$3.81

C
$2.97

D
$2.48
26.
Drumlin Co has $5m of $0·50 nominal value ordinary shares in issue. It recently announced a 1 for 4 rights issue at $6 per share. Its share price on the announcement of the rights issue was $8 per share.
What is the theoretical value of a right per existing share?
A
$1.60

B
$0.40

C
$0.50

D
$1.50
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5.
Finance for SMEs

5.1
Financing problem for small businesses

5.1.1
Funding gap:
(a)
A funding gap is the difference between the money required to begin or continue operations, and the money currently accessible.

(b)
Funding gaps are common in very young companies, who may underestimate the amount of capital needed to sustain production until a workable cash flow has been established.

5.1.2
Maturity gap:
(a)
It is particularly difficult for SMEs to obtain medium term loans due to a mismatching of the maturity of assets and liabilities.

(b)
Longer term loans are easier to obtain than medium term loans as longer loans can be secured with mortgages against property.

5.1.3
Inadequate security:
(a)
A common problem is often that the banks will be unwilling to increase loan funding without an increase in security given (which the owners may be unwilling or unable to give), or an increase in equity funding (which may be difficult to obtain).

5.2
Potential sources of financing for SMEs

5.2.1
Potential sources of financing include the following:

(a)
Owner financing

(b)
Overdraft financing

(c)
Bank loans

(d)
Trade credit

(e)
Equity finance

(f)
Business angel financing

(g)
Venture capital

(h)
Leasing

(i)
Factoring
(j)
Government assistance

(k)
Supply chain financing

(l)
Crowdfunding / peer-to-peer funding
5.2.2
Business angel financing
(a)
Business angels are wealthy individuals or groups of individuals who invest directly in small businesses. They are prepared to take high risks in the hope of high returns.
(b)
The main problem with business angel financing is that it is informal in terms of a market and can be difficult to set up.

(c)
However informality can be a strength. There may be less need to provide business angels with detailed information about the company, since business angels generally have prior knowledge of the industry.
5.2.3
Government aid
(a)
Government aid schemes are country-specific. For example, in the UK help for SMEs includes the Enterprise Finance Guarantee and the Regional Growth Fund.
(b)
The Enterprise Finance Guarantee (EFG) is a loan guarantee scheme to facilitate lending to viable businesses that have been turned down for a normal commercial loan due to a lack of security or a proven track record. In instances such as this, EFG may be an option, but will only be considered when the lender (usually a bank) is satisfied that the business can afford the loan repayments. While the government provides a guarantee to the lender, they have no role in the decision making process.
(c)
A grant is a sum of money given to an individual or business for a specific project or purpose. A grant usually covers only part of the total costs involved. These grants may be linked to business activity or a specific industry sector. Some grants are linked to specific geographical areas, e.g. those in need of economic regeneration.
5.2.4
Supply chain financing
(a)
It also known as supplier finance or reverse factoring. It is a set of solutions that optimizes cash flow by allowing businesses to lengthen their payment terms to their suppliers while providing the option for their large and SME suppliers to get paid early.

(b)
This results in a win-win situation for the buyer and supplier. The buyer optimizes working capital, and the supplier generates additional operating cash flow, thus minimizing risk across the supply chain.
(c)
For example, Let’s say Company X buys goods from a supplier Y. Y supplies the goods and submits an invoice to X, which X approves for payment on standard credit terms of 30 days. If supplier Y requires payment before the 30-day credit period, the supplier may request immediate payment (at a discount) for the approved invoice from Company X’s financial institution. The financial institution will remit the invoiced amount (less a discount for early payment) to supplier Y. In view of the relationship between Company X and its financial institution, the latter may extend the payment period for a further 30 days. Company X therefore has obtained credit terms for 60 days, rather than the 30 days provided by supplier Y, while B has received payment faster and at a lower cost than if it had used a traditional factoring agency.

5.2.5
Crowdfunding / peer-to-peer funding
(a)
Crowdfunding is a way of raising finance by asking a large number of people each for a small amount of money. Until recently, financing a business, project or venture involved asking a few people for large sums of money. Crowdfunding switches this idea around, using the internet to talk to thousands – if not millions – of potential funders. Typically, those seeking funds will set up a profile of their project on a website such as those run by our members.
(b)
There are three different types of crowdfunding: donation, debt and equity.
	Multiple Choice Questions

26.
Consider the following statements concerning the financing problems of a SME.

(i)
Funding gap

(ii)
Maturity gap

(iii)
Inadequate security

(iv)
Uncertainty concerning the business

Which of the above statements are the financing problems of a SME?

A
(i), (ii) and (iii) only

B
(i), (iii) and (iv) only

C
(ii), (iii) and (iv) only

D
(i), (ii), (iii) and (iv)


	Question 8 – SME sources of finance problems

(a)
Discuss the difficulties that may be experienced by a small company which is seeking to obtain additional funding to finance an expansion of business operations.



(8 marks)
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(b)
Discuss the potential sources of finance for SMEs excluding sources from capital markets.
(5 marks)


Additional Examination Style Questions
Question 9 – Stock Exchange

A well-functioning stock exchange is an essential requirement of a well-functioning private enterprise system.

Required:

(a)
Briefly explain the nature and purpose of a stock exchange.
(4 marks)

(b)
Discuss the possible advantages and disadvantages for a company of obtaining a listing on a stock exchange.
(16 marks)



(Total 20 marks)
Question 10 – Rights Issue

Sagitta plc is a large UK fashion retailer that opened stores in India and China three years ago. This has proved to be less successful than expected and so the directors of the company have decided to withdraw from the overseas market and to concentrate on the UK market. To raise the finance necessary to close the overseas stores, the directors have also decided to make a one-for-five rights issue at a discount of 30% on the current market value. The most recent profit and loss account of the business is as follows:

Profit and loss account for the year ended 31 May 2014

	
	£m

	Sales
	1,400.0

	
	

	Net profit before interest and taxation
	52.0

	Interest payable
	24.0

	Net profit before taxation
	28.0

	Corporation tax
	7.0

	Net profit after taxation
	21.0

	Ordinary dividends payable
	14.0

	Retained profit
	7.0


The capital and reserves of the business as at 31 May 2014 are as follows:

	
	£m

	£0.25 ordinary shares
	60.0

	Revaluation reserve
	140.0

	Retained profit
	320.0

	
	520.0


The shares of the business are currently traded on the London Stock Exchange at a P/E ratio of 16 times. An investor owning 10,000 ordinary shares in the business, has received information of the forthcoming rights issue but cannot decide whether to take up the rights issue, sell the rights, or allow the rights offer to lapse.

Required:

(a)
Calculate the theoretical ex-rights price of an ordinary share in Sagitta plc.



(5 marks)

(b)
Calculate the price at which the rights in Sagitta plc are likely to be traded.



(3 marks)

(c)
Evaluate each of the options available to the investor with 10,000 ordinary shares.


(8 marks)

(d)
State, from the viewpoint of the business, how critical the pricing of a rights issue is likely to be.
(4 marks)



(Total 20 marks)
Question 11 – Rights Issue and Other Equity Financing

XTA Co is an all equity financed, listed company which operates in the food processing industry. The XTA Co family owns 40% of the ordinary shares; the remainder are held by large financial institutions. There are 10 million $1 ordinary shares currently in issue.

The company has just finalized a long-term contract to supply a large chain of restaurants with a variety of food products. The contract requires investment in new machinery costing $24 million. This machinery would become operational on 1 January 2008, and payment would be made on the same date. Sales would commence immediately thereafter.

Company policy is to pay out all profits as dividends and, if XTA Co continues to be all equity financed, there will be an annual dividend of $9 million in perpetuity commencing 31 December 2008.

There are two alternatives that are going to be considered at the next board meeting to finance the required investment of $24 million.

(1)
A 2-for-5 rights issue, in which case the annual dividend would be $9 million. The cum rights price per share would be $6.60.

(2)
Issuing 7.5% irredeemable debt at par with interest payable annually in arrears. For this alternative, interest would be paid out of the $9 million otherwise available to pay dividends.

For either alternative, the directors expect the cost of equity to remain a its present annual level of 10%.

One of the directors has been wondering whether the board ought to be considering further options – raising equity finance by means of a placing, a public offer for sale or subscription, or raising unsecured loan finance with warrants attached.

Required:

(a)
Calculate the issue and ex rights share prices of XTA Co assuming a 2-for-5 rights issue is used to finance the new project at 1 January 2008. Ignore taxation.
(4 marks)

(b)
Calculate the profit available for dividend at 31 December 2008 if 7.5% irredeemable debt is issued to finance the new project. Assume that the cost equity remains at 10% each year. Ignore taxation.
(2 marks)

(c)
Write a report to the directors of XTA Co which:

(i)
Compares and contrasts the right issue and the debt issue methods of raising finance – you may refer to the calculations in your answer to requirements (a) and (b) and to any assumptions made.

(ii)
Explains and evaluates the appropriateness of the following alternative methods of issuing equity finance in the specific circumstances of XTA Co:

(1)
A placing

(2)
An offer for sale

(3)
A public offer for subscription

(iii)
Explains and evaluates the appropriateness of issuing unsecured loan stock with warrants attached in the specific circumstances of XTA Co.



(19 marks)



(Total 25 marks)

Question 12 – Dividend Policy, Gearing, Rights Issue and Operating Lease
The following financial information relates to Echo Co:
Income statement information for the last year

	
	$m

	Profit before interest and tax
	12

	Interest
	3

	Profit before tax
	9

	Income tax expense
	3

	Profit for the period
	6

	Dividends
	2

	Retained profit for the year
	4


Statement of financial position information as at the end of the last year

	
	$m
	$m

	Ordinary shares, par value 50c
	5
	

	Retained earnings
	15
	

	Total equity
	
	20

	8% loan notes, redeemable in three years’ time
	
	30

	
	
	50


Average data on companies similar to Echo Co:

Interest coverage ratio
8 times

Long-term debt/equity (book value basis)
80%
The board of Echo Co is considering several proposals that have been made by its finance director. Each proposal is independent of any other proposal.
Proposal A

The current dividend per share should be increased by 20% in order to make the company more attractive to equity investors.
Proposal B

A bond issue should be made in order to raise $15 million of new debt capital. Although there are no investment opportunities currently available, the cash raised would be invested on a short-term basis until a suitable investment opportunity arose. The loan notes would pay interest at a rate of 10% per year and be redeemable in eight years’ time at par.
Proposal C

A 1 for 4 rights issue should be made at a 20% discount to the current share price of $2·30 per share in order to reduce gearing and the financial risk of the company.
Required:
(a)
Analyse and discuss Proposal A.
(5 marks)

(b)
Evaluate and discuss Proposal B.
(7 marks)
(c)
Calculate the theoretical ex rights price per share and the amount of finance that would be raised under Proposal C. Evaluate and discuss the proposal to use these funds to reduce gearing and financial risk.
(7 marks)
(d)
Discuss the attractions of operating leasing as a source of finance.
(6 marks)


(Total 25 marks)
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Question 13 – Share price calculation, rights issue, semi-strong form, equity finance and debt finance
THP Co is planning to buy CRX Co, a company in the same business sector, and is considering paying cash for the shares of the company. The cash would be raised by THP Co through a 1 for 3 rights issue at a 20% discount to its current share price.

The purchase price of the 1 million issued shares of CRX Co would be equal to the rights issue funds raised, less issue costs of $320,000. Earnings per share of CRX Co at the time of acquisition would be 44·8c per share. As a result of acquiring CRX Co, THP Co expects to gain annual after-tax savings of $96,000.

THP Co maintains a payout ratio of 50% and earnings per share are currently 64c per share. Dividend growth of 5% per year is expected for the foreseeable future and the company has a cost of equity of 12% per year.

Information from THP Co’s statement of financial position:
	Equity and liabilities
	$000

	Shares ($1 par value)
	3,000

	Reserves
	4,300

	
	7,300

	Non-current liabilities
	

	8% loan notes
	5,000

	Current liabilities
	2,200

	Total equity and liabilities
	14,500


Required:

(a)
Calculate the current ex dividend share price of THP Co and the current market capitalisation of THP Co using the dividend growth model.
(4 marks)

(b)
Assuming the rights issue takes place and ignoring the proposed use of the funds raised, calculate:

(i)
the rights issue price per share;

(ii)
the cash raised;

(iii)
the theoretical ex rights price per share; and

(iv)
the market capitalisation of THP Co.
(5 marks)

(c)
Using the price/earnings ratio method, calculate the share price and market capitalisation of CRX Co before the acquisition.
(3 marks)

(d)
Assuming a semi-strong form efficient capital market, calculate and comment on the post acquisition market capitalisation of THP Co in the following circumstances:

(i)
THP Co does not announce the expected annual after-tax savings; and

(ii)
the expected after-tax savings are made public.
(5 marks)

(e)
Discuss the factors that THP Co should consider, in its circumstances, in choosing between equity finance and debt finance as a source of finance from which to make a cash offer for CRX Co.
(8 marks)



(25 marks)
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